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Part one: Reading                                                                                          (15 points)

A- Comprehention.

Read the text carefully then do the following activities.
            Increases in Urbanization and in the area under cultivation during Roman rule caused wholesale dislocations of Berber society. Nomadic tribes were forced to settle or move from traditional rangelands. Sedentary tribes lost their autonomy and connection with the land. Berber opposition to the Roman presence was nearly constant. 
           The Roman Emperor Trajan (r. A.D. 98-117) established a frontier in the south by encircling the Aurès and Nemencha mountains and building a line of forts from Vescera (modern Biskra) to Ad Majores (Hennchir Besseriani, southeast of Biskra). The defensive line extended at least as far as Castellum Dimmidi (modern Messaad, southwest of Biskra), Roman Algeria's southernmost fort. They settled and developed the area around Sitifis (modern Sétif) in the second century, but farther west the influence of Rome did not extend beyond the coast and principal military roads until much later.

          The Roman military presence in North Africa was relatively small, consisting of about 28,000 troops and auxiliaries in Numidia and the two Mauretanian provinces. Starting in the second century A.D., these garrisons were manned mostly by local inhabitants.

         The beginnings of the decline of the Roman Empire were less serious in North Africa than elsewhere. There were uprisings, however. In A.D. 238, landowners rebelled unsuccessfully against the emperor's fiscal policies. Random tribal revolts in the Mauretanian Mountains followed from 253 to 288. The towns also suffered economic difficulties, and building activity almost ceased.

                                                           Published on 15 December 2011, the Library of Congress
1. Are these statements True or False? Write T or F next to the corresponding to the statement.

a- The local tribes were able to settle freely.
b- The Aurès and Nemencha were bordered.
c- There were small presences of the roman military in South Africa.
d- The most serious decline of the Roman Empire was in North Africa.
2. Answer the following questions according to the text:
a- What did the Roman do to the local tribes?

b- Where did the Roman settle?

c- Did the landowners accept the emperor’s fiscal policies?

3. In which paragraph is it mentioned that : 

· The revolt against the Roman Empire.

4. What or who do the underlined words refer to in the text?
a- their                                                                        b- They
B- Text Exploration.

1. Find in the text words closest in  meaning to the following:
a- Region =                            b- king  =                           c- resistance =

2. Find in the text words opposite in meaning to the following :
a- The rise ≠                          b-  to leave ≠                        c-    most  ≠    
3. Complete the chart as shown in the example.    

	Verb
	noun
	adjective

	To oppose
	opposition
	opposed

	To develop
	…………………………
	…………………………

	…………………………
	influence
	…………………………


4. Join the pair of sentences using the following connectors in brackets, make necessary changes.

a- The Romans (to settle) in North Africa.

b- The Romans (to transform) the region into a military province.(after)
a- The tribes (to revolt) against the Romans.
b- The Romans (to keep) its control on the region.(although)
5. Rewrite sentence (b) so that it means the same as sentence (a).
a- The Roman Emperor Trajan (r. A.D. 98-117) established a frontier.

b- A frontier ……………………………………………………………….

6. Classify these words according to the pronunciation of the final “ed”.
Forced – caused – extended – developed – rebelled – established 
	/t/
	/d/
	/id/

	
	
	


Part two: written expression                                                                       (05 points)
Choose ONE of the following topics:

Topic one: write an expository essay about the challenges faced by modern civilization. Like nuclear warfare, catastrophes, and pollution…
Topic two: Algeria is a crossroad of civilizations; write an essay in which you talk about Algeria’s heritage sites like: the Banu Hammads’ Qalaa, Timgad, and Castellum Dimmidi.
“Education is the transmission of civilization.”
Good luck

The correction

Part one: Reading                                                                                          (15 points)

A- Comprehention.

Read the text carefully then do the following activities.
1. Are these statements True or False (02 pts)
a- False                     b- True             c- True                     d-  False
2. Answer the following questions according to the text:( 03 pts)
a- caused wholesale dislocations of Berber society.

b- They settled and developed the area around Sitifis.
c- No, they did not. Landowners rebelled unsuccessfully against the emperor's fiscal policies.
3. In which paragraph is it mentioned that : § 4 (0.5 pt)
4. What or who do the underlined words refer to in the text? (01 pt)
their =     tribes                                              They= roman
B- Text Exploration.
1. Find in the text words closest in  meaning to the following (01.5 pts)
             Region =   area         king =   emperor           resistance = opposition
2. Find in the text words opposite in meaning to the following(01.5 pts)
             The rise ≠ the decline         to leave ≠   to settle               most ≠   least
3. Complete the chart as shown in the example.    (01 pt)
	Verb
	noun
	adjective

	To oppose
	opposition
	opposed

	To develop
	development
	developing

	To influence
	influence
	Influential


4. Join the pair of sentences using the following connectors in brackets, make necessary changes. 
a- After the Romans had settled in North Africa, the transformed the region into a military province.(01 pt)
b- Although the tribes had revolted against the Romans, they kept their control on the region. (01 pt)
5. Rewrite sentence (b) so that it means the same as sentence (a).

a- The Roman Emperor Trajan (r. A.D. 98-117) established a frontier.

b- A frontier was established by the Roman emperor Trajan. (01 pt)
6. Classify these words according to the pronunciation of the final “ed”. (01.5 pts)
	/t/
	/d/
	/id/

	Forced  - developed established
	Caused - rebelled
	extended


Part two: written expression                                                                       (05 points)
Choose ONE of the following topics:

Topic one: form: 2.5     content: 2.5  
Topic two: form: 2.5     content: 2.5  [image: image1.png]



